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Dff WHEN ftx ) 15 POSITIVE  AND  a< b  THEN ...
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Def LET FCX) BE  A  FUNCTION
,

AND  LET g ( X ) BE  SUCH  THAT glx ) = ftx ) .

THEN
,  WE  say THAT g. ( X ) IS  AN ANTI  DERIVATIVE  OF ftx ) .

IN  THIS PARTICULAR COURSE . . ANTIDIFFERENDADON = INTEGRATION =
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AREA  =h32xdx= 2+(3×6)=2+(18 ) = 9 AREA  =/,32xdX= 4+4=8

= = tzl 4) ( 21=4
r

NOTICE  THE  FOLLOWING :

IF  WE  TAKE  X2 EVALUATED AT  X=O  AND  X=3 . - . IF  WE  TAKE  XZ EVAUUATED  AT  XII  AND  XFZ ...

(35 - 6)
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these  are  related !
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RECAW  THE  PROBLEM  FROM  WEDNESDAY .  WE  ESTIMATED  THE  DISTANCE  THAT 6060  RAN  By FINDING THE

AREA  OF  RECTANGLES  UNDER THE  CURVE
, WHICH  WE  CAWED  UPPER  § LOWER  SUMS

. (ALTERNATIVELY , RIGHT-HAND

sums  § LEFT-HAND  SUMS  RESPECTIVELY
. ) WE  NOW  MAKE  THIS IDEA  MATHEMATICALLY PRECISE .

TO EHTIMATE /abfCX)dX
,  WE  DIVIDE  THE  INTERVAL [ a ,b ] INTO  n  EQUAL  SUBDIVISIONS .
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THEN
, THE  LEFT  § RIGHT-HAND  SUMS  WILL  BE :
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EXAmPLE_ USING  UPPER  § LOWER  sums
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FOR  THE  LOWER  SUM

, Our  ESTIMATE  WILL  BE :
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UPPER  SUM THE  UPPER  SUM  Will  BE :
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